080SS 0805¢ 0£S1 0 0 0£S1 Ay lbin bhih RR g5 b5 mikhia s 55 bIRK bR | 1€
95961 96961 9% 0 9% 0 kR Ababy bkikh paph | [Salh rSalh bIRK Mk g  RSath DIRK lilal Yg) 0F
008 00887 008 0 008 0 R8T Ibin LDl JIRSS-TPSINY RleR] | RIbD] bIRK 1okl s ibp] ab-Brn lg| 62
00vT 00t ¥1 00¥ 0 00¥ 0 T ibin YT BlRE | Lkl PUD 2bI2 Y liets] RIhked lig| 82
00S¢t 005TT 579 0 74°) 0 L2aDIe Lbin SRhib Lblie Alledb - AldR 12U Us| LT
DOSET 00S€1 SLE 0 SLE 0 IPAbIS lbin Ship bl bblk - bblk ApI3k | of
0009€ 0009¢. 000T 0 000T 0 LoAbIe Lbin Alb2[1r b2l 2R — 2R| blkkbD %] ST
00S¢¢ 00522 S79 0 S29 0 IEFST lbio 1=bp 1L5p ER| aR| kB> g 2Ry pohi | vz
08€ST 08€5T S0L 0 S0L 0 123 Die ibin Aehp AieBib ap| 2R radsh s 3R Ikh Pblk| €z
9€88z 9£887 108 0 108 0 LpDIe Lpls RikRe BleRje RIpLy —| Bibp) pik sphus |
8875 ¥88TS 69v1 0 69VT 0 JTESNITL Ibin Mbbe 2hebe 2R 3R 2513p p3 s 31| 2513p Bebid M| 12
00522 00522 579 0 529 0 JIERIAYS 1bin JTRFST 12136 2R 21| klkk5h g 2R 2513p%:3 el o7
00ST 00081 00¢ 0 0 00§ 2lkckla Melpd e b3k BhAR [bb Ib(RR| 61
000¥ 00887 008 0 0 008 2Rkl el Rl 1212% MeY| IED] laRMBRB L RIbD] Apdink is| 81
000% 00887 008 0 0 008 2lhbla el JIINTY 1212% RlbD| iR B | IR Ah® heb | L1
0v6¥ 89¢¢¢ 886 0 0 886 2lh®dlh el 13k 12Rb) 31| ap| 2513pA0 I 20 hIbK lalx | 91
SL8L 00L9S SLST 0 0 SLST 2hdih | Aelk Bbp 1Y 1RLIR DIk Babbid | eIk LU P Y| sl
c89v TeLEe | Lg6 0 0 LE6 2lhdblh Mzl Sbh Ebl kbR Iepik Sk U] 1pDif DIRK Ml lg] bl
000¢ 0091¢ 009 0 0 009 2lhdla Aajpd 2e 2> Deplr pelk bbeb baik Ebk U] €l
005 (0] 743 006 0 0 006 2lfawlh el [N T kbR bbik bibR ls] kol bIBA klkbe &
00SYy 00¥Z€ 006 0 0 006 2kl Al Y 1136 b>lk bhik BhB) Ly bbik LRER U] 11
0002 00bY1 00¥ 0 00¥ JEYIE ArlR adla ahawla bblR bblk BlS(b U bbik RikbkR | o1
00S 009€ 001 0 001 0 EYTET Alelpd o 2hawlz Dolk balk D s Dol Uokx | 6
00ST 00801 00€ 0 00€ 0 DL Pht A PINTITN 2Rl bbip bhife [Rlkk U bbik B | 8
00St 00801 00€ 0 00€ 0 Y Mol AP ahaaie pole | boik kb i bih|  bbik LOD-BR Pkie| ¢
0007 00TL 00¢ 0 00¢ 0 Il el rhaolz ahenr bble bblk RILDIR |l pbik blins-3 gl 9
000T 00TL 00¢ 0 00C 0 0] Db Ml PNNTIEY 2hacla bbik bblp WILRIA |k bbik Ll 6| s
0S61 0¥0y1 06¢€ 06€ 0 0 JISH:} JINAR-Y 2hefie 13k RIbDY RIbD| [nlblbly o] RIbD) DIRK IRkl s ¥
s 0009 00ZEY 0021 0021 0 0 1NN JINR ] Ml 123kk T 31| A2 Rlhle Y AR 2RI Y| €
Iegp) L1pLf ah 009 0TEY 071 0 0Z1 0 JINNS:] lekfa rhufbie [TAISYENTH| Inf it bibkix | ¢
Ahlie ¢ wopjys | 0STEL 00¥56 0592 0$9¢ 0 0 kB2 IR} rhLfe Ll 1Bl BO|r FAlLbEL i BOU 20l2PR)| |
] bl €l 4} L oL 6 8 L 9 S 14 g Z I
lodcb JbBS () (@) &
12 Ikl lnk) | Y e | kibBie R2
gk biopk |1 ik | 0% eb ozoz TR s Rldbts] o5
b Bl jofety | RO s oe 28 Ll Blabb | lobla Sk [lohp eus|kdih bb|aRRick) | R31a /beleh | 2313 /bl | blbhe hlb b (DR bl TLie
kR @b 020Z | $b 0202 | Lblk ILDRK (albibsiolk)
bis 0g 2 | kI 08 | biapjK 00L b 1 [Rlh Ble Bhllx bladh | ohd

(b 2Rlle & bhidk @
ouow._uwlwrm_wv&@%EEE%%EEE%%E@EQSFﬁr&ﬁrpvlo—ougwEgE»wEEwEE




ISEEIL ¥8989€1 6108¢€ orey €96V1 91881 |—le
0901 918¢ 90T — 90T - IRplkel AR 1eB1n e2b N Rl PIDIA i Bib RIBDR
00S€E 00971 0S€E = 05€ = TSI Ab2R e a2:b 2B bp8) liklh |k 1263 Mblkehi iy
000T 009¢€ 00T - 00T — fIPNINY Ak2R IRakR 1330k Liv Ble L g Bl b g
000T 009€ 00T — 001 — 1Rl B AR 1Rkt 123/0h Ble Pl 2 s Rle banh s
000T 009€ 00T = 00T = TSNS Akt IRAlkE 12)bh Pl Rlb RIB I Bl pblak |
0007 009¢ 00T = 00T = TSI Albaky| JTSNIAEY 23R [N DLk bbb I g DI [2lle s
000T 009¢. 001 = 001 = TSI MEAR| Ikt 12310k YTIITY Dol 1DIRG] Lk Dplb 211 Uy
0581 0999 S8T — 581 - IRalkeb AR iRajkk 13|k Dolk Dpl bbIAR Dbl Falbbld
0082 0808T 08L = 08/ — 1l > AbAR Ralkk 123k BD|le BOl bbb I Bb(lr %P5 g o
000 001 00 — 00% — 1Rk Al TSNIEY Rbb 21 2R Maebl Uy
0095 0910T 095 e 095 = IR AlbAR JTeYNI5Y Apsk 123k NI BD|e AbaLlS Y LDl [k
00ty 08vS1 (1132 - 0ty - Il AR LRalkb Absh 133 aR| 2R| Lalblin Ly
0001 009€ 00T — 001 - TSI AR Iibsh p2d JTATY-NY 2R 3R LRLLL U 2R Siak Ly
000T 009€ 00T = 001 - LRl ARy ibadh 3D blirb> 2b3] (pbB] Llale s [2bB] DAk U
0S€T 0987 SET — SET - Te3STI:Y AR 1ibah 3D blitbb JETE:] (bbB] Rahly s 12bB] 12k I
0081 0819 081 = 08T - k3lkk AR L1bsEh 122:% bllrb> 1wplx BIRB Us DD DRI [k
0182 91101 182 = 18¢ — IRk Abedy) ibahh (3,3 pli:bd IDF 1obT2 IRk bz Balolx L
0005 00081 .| o00s = 00§ - IR2|E AR llbsh pash blitbd RSalh Rnlh 123k L RSalh RIRIGNG 5| Lp
0001 009€ 00T - 00T — Ialkk AbaRy JINTIN A= 1R 31| IRRRI [k 2R 2hRIRL U
08T 0999 S81 — 581 — IRk AR 1Llbsh parh 1k 2R 3R] Llks-b Ui 3R] bhubinb |
000T 009¢ 001 - 001 ~ eI Alkdky] b1b&T [32:% 1ok 2R 2R bk U 2R (% [Phik
008€ 089€1 08¢ = 08¢ — I3 ARy 1Ipah 3D 1ok 2| Rihdhid s 2R 12Lbl3| U
919€T 919¢¢ 959 0 0 959 IS Ibin [T bl LAlbL] RIPD) Dsbblx 1% RLBL] bbby L
80811 80811 743 0 0 87€ pSIINCY] Il DRlah ®b IbB} BlbD| Mkb bika |  BIPL| Mb® RO
87£89 87£89 8681 0 0 8681 FYIPYE| Lbin brleh b [PTI| 1plbD] bIRK 1Sk Y|  (IbD| bIRK lbhllle Ly
7665 7665 (444} 0 0 (444! AllaR] Ipin bRikh ®b bb3B) [2bB] DIRK LXb) i 12b3| klkbbh lx
TSLTT TSLTT €9 0 0 €9 AEAR| lbin Brlah o> Qo] | Bibb| hink Woibe |  RIBD} M blkb| i
T69€T 759¢€¢ LS9 0 0 LS9 ARy lbin bRleh »b> BeR] BIRRL Bebalkld ¢ BB RRDEI |y
YTe6 ¥7€6 65T 0 0 65T A2k Lbin PRlzh o 121bB} BIbY) Mkt piea Us| BILD| Mbbh lalpled |
TSLTT 76177 (4%] 0 0 €9 2Ry lbin bhleh o QlbR] | RibD) DIRK Ilbn g RIBR] bIRE Ibble It
e 095§ 0975S SEST 0 0 SEST Allraky Lpin Peleh R 33 55 kilhia s p5 bIRK bhlk Ll
e} bR 3y | LIV vl (431 0 0 TSIl AR Ibin bhiph 2 53 5% BRLRSR s SR
Mhlie & boplun | OVETT 0¥ET1 SIE 0 0 S1¢ AlldRy| 1bin bRlkh I 1pb3| b3 gl Ik PR3] Bbio]
Sl vl €l 4} L ol 6 8 L 9 S ¥ € z
oAk e (@) (@) Lax
1L Iple lp) | Ry Bl | kidBle kD
@k bk | pLk | 8D b 0z02 2l 2 Rlely 1
1o R ke | 0B bl 0g 28 kR blabK | lohl St [lahd @u> |kt kb|aRiikp] | D312 /DRlbh |13 /bl | klehe bl 1d DA btk T
kb ®b 0202 | ®b 0202 | Blelbr WDBJIS (NTITS ey
plo 0g njp | Lhhooe | blpIK 001 Ik 1 lBlh Bib bhjlx ble2h | bbb




